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1. When convert analog signals into digital signals, the first step is to (A) sampling (B) quantization (C) coding (D)
storing °
2. +1010001.11001 can be normalized as: (A) +2°%1.11001 (B) +2%%1.01000111001 (C) +2°%1.1100001 (D) +2°x
1.11001 -
3. Which following method the CPU’s idle time is the shortest? (A) interrupt-driven 1/O (B) direct memory access (C)
programmed /O (D) all the above -
4. Fora magnetic disk, the ____time is the time it takes for the read/write head to move to the desired track where the
data are stored: (A) rotation (B) seek (C) transfer (D) location °
If the word size is 2 byles, a data bus with _ wires is needed: (A) 2 (B) 4(CY8 (D) 16 -
Which topology uses a hub or switch: (A) star (B) ring (C) bus (D) all of the above -
The IP v4 address is currently __ bits in length: (A) 4 (B) 8 (C) 16 (D) 32 -
" Which command is for checking on the physical address of a PC’s network card: (A) ping (B) tracert (C) ipcontig (D)
netstat
9.  Which of the following technique is the most efficient for multiprogramming? (A) demand paging (B) demand paging
and segmentation (C) paging (D) partitioning °

% = o w

10. Which of the following network address is current ___: (A) 163.23.1.256 (B) 127.0.0.1 (C) 192.256.47.83
(D)220.1.256.254 - ,

I1. Arouter operatesat ____ of the OSTmodel: (A) the first layer (B) the second layer (C) the third layer (D) the fourth
layer ° ‘

12. The fastest memory in PC today is: (A) ROM (B) cache memory (C) RAM (D) register -

13. _ holds the bdoting program like BIOS. (A) Hard disk (B) Windows (C) ROM (D) RAM -

14. The  assembles precompiled units from different sources into an executable program. (A) preprocessor (B) text

editor (C) linker (D) loader
15. In division remainder hashing (modulo division method for key-address mapping), there is a key (= 122) for a record,
using prime number= 59 as list-size, the address is: (A) 122 (B) 59 (C) 3 (D) None of above.

16. When a sequential file is updated, the file contains the changes to be applied. (A) new master (B) old master (C)
error report (D) transaction ° _
17. The level of DBMS architecture defines the logical view of the data (A) physical (B) internal (C) conceptual (D)

external °
18. Storing unsigned integer 258 in an 8-bit memory location, result is: (A) 100000010 (B) 11111111 (C) 11101010 (D)
overflow o

19. can occur if a process has too many resource restrictions. (A) Starvation (B) Synchronization (C) Paging (D)
Deadlock - .
20. Multiprogramming requires a operating system. (A) batch(B) time-sharing (C) personal (D) distributed °
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21, MEFEIARE LA E R 1P mhhé’}ﬂzﬁﬁﬂﬂ& % ? (A) POP (B) Gateway (C) DNS (D) SMTP o

22, —fE4E A FAT2 R 4% B84 ICB 9wt & » £ 4 K-\ 4 4KB 783 %%@K¢KSMMM'Q@%$E
%@wcumsmwm@mam%o

23. FHHR—48 Unix 4 £ @HE MR TS T8 o RAHIT, 2 (A) rw-rwxrwx (B) —-rw-rw-rwx (C) —rwx-w-rwx
(D) —r-x-wxrw- o

24. TF 3| # M WHA(Broadband) sy 4 it - 47 44 3% ? (A)@ﬁ“ﬁ 45 B G sk (B)E A AT A SR KR8 — 18RI
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25. F ol R& Fekth Excel T@BH LM, X 2 (A)SX3 (B) X$3 (C) $X$3 (D) X3 -

26. TF 3|9k — 18 URL #94& K 4832 ? (A)telnet://aries.dyu.edu.tw (B)maito://john@mail.dyu.edu.tw (C)
ttp://ftp.dyu.edu.tw (D) http://163.23.1.66 »

27. FFIH—H @ ey EAHE R E &% ? (A) IEEE 1394b (B) USB2.0 (C) RS232C (D) SCSI-3 -

28. T FIH— A B A G BARIE A ? (A) POST— A BIOS— kA Bl 4 42 X — 44 F BL By 69 80 — B B mk 25 P2 X,
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- POST—34 & s 8y b sk stk — BL By s B B # A2 X — B E OS -

29. TR FER KB E & ? (A) *.bmp (B) *.ai (C) * jpg (D) *.tif - :

30. 3 & (Stack)ay Bt AE45 4 & ¢ (A) First In First Out (B) First In Last Out (C) Last In First Out (D) Last In Last
Out
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/* Program for question 10 */
#include <stdio.h>
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main ()
{ int a=0;

int c¢=0;

c=++3a;

printf (“c=++a=%d\n”,c);}
/* eof */
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